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RERR | AEHE | AR | HERE | HERE | AERE
50cm 0.08 0.08 0.08 0.08 0.08 0.08
804 |TEHEF #RER BUSERER 9A118 [#BE-BEEE] EHEG
1m 0.08 0.08 0.07 0.07 0.08 0.08
50cm 0.07 0.07 0.06 0.06 0.07 0.07 _
INERBRR
) ) 1m 0.07 0.07 0.07 0.06 0.07 0.07
805 |EHH CELE TEMITNEELE 9ANE —————————— -
50cm 0.08 0.07 0.07 0.07 0.08 0.07
FHEAINESHE
1m 0.08 0.08 0.07 0.07 0.08 0.08
50cm 0.08 0.09 0.05 0.06 0.07 0.07|__
EHRGFREM
) ) 1m 0.08 0.07 0.05 0.06 0.07 0.07
806 |FHF CELE TENIZEACELE 9ANE ————————————— -
50cm 0.08 0.09 0.07 0.06 0.07 0.07 "
TFHEAIIZERLHHE
1m 0.07 0.08 0.06 0.06 0.07 0.07
50cm 0.08 0.07 0.11 0.11 0.08 0.07
807 |FEREAt INERR SERFIL/NF IR 9A118
1m 0.07 0.07 0.11 0.10 0.08 0.07
50cm 0.09 0.08 0.10 0.09 0.07 0.07
808 |TEHFt INEEAR ERMILERNMER 9A11H
1m 0.08 0.08 0.09 0.09 0.07 0.07
N A N 50cm 0.09 0.08 0.11 0.11 0.08 0.07
809 |FEAT el 5 SERFILVLIERFER 9A11H
1m 0.08 0.08 0.12 0.11 0.08 0.07
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